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1. Identify the property by which the two given triangles are congruent
A O
B £ P Q
(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency
2.

Identify the property by which the two given triangles are congruent

D 0
65° 50° 65° 50°
| I ] I I ]
E F P Q

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency

3. Identify the property by which the two given triangles are congruent

(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency

Identify the property by which the two given triangles are congruent

(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency



5. Which of the following are true?

a) Any two triangles are similar.
b) Any two circles are similar.

0

)
)
) Any two squares are congruent.
d) Any two squares are similar.

)

e) Any two triangles are congruent.
f) Any two circles are congruent.

(i) {a,d,b} (ii) {c,d} (iii) {b,d} (iv) {efb} (v) {a,b}

6. Which of the following are true?

a) A triangle is a polygonal region.

b) A square is a polygonal region.

c) Acircle is a polygonal region.

d) A sector is a polygonal region.

e) A semi-circle is a polygonal region.

(i) {c,a} (ii) {e,c,a} (i) {d,b} (iv) {a,b} (v) {d,b,a}

7. Which of the following are true?

a) Similar and congruent are not synonymous.
b) Congruent figures have same area.

d) If two figures are congruent, then they are similar too.

)
)
c) Similar figures have same area.
)
e) If two figures are similar, then they are congruent too.

(i) {c,a} (i) {ced} (i) {ab,d} (iv) {e,b} (v) {c,a,b}

8. Which of the following are true?

a) Area of the union of two polygonal region is not equal to the sum of the individual area.

b) A polygonal region can be divided into a finite number of triangles in a unique way.

c) Area of a convex polygonal region is equal to the sum of the areas of all triangles formed by joining the vertices
of the polygon with an interior point.

d) Area of the union of two polygonal region is the sum of the individual area.

(i) {b,c,a} (i) {a,c} (i) {b,d,a} (iv) {b,a} (v) {d,c}



In the given figure, points K, L and M are the mid-points of sides I}, JH and HI of AHIJ. Which of the following are
true?

a) AHML = ALK]
b) AMIK = AHML
c) AMIK = AKLM
d) AHML = AKML
e) AHML = AKLM
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(i) {d,e,a} (i) {ab,c,e} (iii) {d,a} (iv) {d,c} (v) {d,b}

10. In the given figure, which of the following is true?
E U
F G v w
(i) AFGE = AUVW (ii) AEFG = AWVU (iii) AEFG = AUVW (iv) AEFG = AVWU (v) AEFG = AWUV

11. In the given figure, AABC = ASRQ. Which of the following are true?

a) BC =RQ
b) LA = £Q
c) BC=SR
d) £LC = £LQ
e) LB = LR

S
R
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(i) {b,a} (i) {cd} (i) {b,a,d} (iv) {b,c,e} (v) {ade}




12.

13.

14.

In the given figure, ACDE = ASRQ. Which of the following are true?

a) LS =56°
b) LR = 49°
c) £LQ = 49°
d) LQ = 75°
e) LR =56°
f) LS =75°
Q
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(i) {a,c} (ii) {cef} (i) {b,ce} (iv) {daf} (v) {b,e}

In the given figure, AFGH = ASTU. Which of the following are true?

a) US=12cm
b) US=15cm
c) TU=13cm
d) ST=15cm
e) TU=15cm
f) ST=13cm
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(i) {e,c} (i) {b,a} (i) {f,b,d} (iv) {ea,c} (v) {acd}

In the given figure, which of the following is true?

D | C
|

A B

(i) AACD = ACAB (ii) AADC = ABCA (iii) AACD = AACB (iv) AACD = AABC (v) AADC = AABC



15. With the data in the given figure, ALMO = ALNO by which property?
L

[E]
8] M

=

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SSS Congruency (v) SAS Congruency

16. With the data in the given figure, AOIH = AOGF by which property?

I H
-
X
. = '
F G

(i) not congruent (ii) SAS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) RHS Congruency

17. With the given data in the figure, AKIM = ALIM by which property?

K L
=
m
-
H | L

(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) RHS Congruency

18. With the given data in the figure, ADEF = AFGD by which property?
G F
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E

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) not congruent (v) RHS Congruency

19. With the given data in the figure, AABC = ADCB by which property?
A D

m
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(i) SAS Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) not congruent (v) ASA Congruency



20. With the given data in the figure, ASJK = ARK] by which property?
|

J K

(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency

21. With the data in the given figure, ACFO = ADEO by which property?
F E

C D

(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) RHS Congruency

22. With the data in the given figure, AGJlI = AGHI by which property?
|

G

(i) RHS Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency

23. With the data in the given figure, AWRS = AVSR by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency



24. With the data in the given figure, AQFG = ARGF by which property?
Q R

F G

(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) RHS Congruency (v) SSS Congruency

25. In the given figure, AHFG is an isosceles triangle. El L FG passing through H. AEHF = AEHG by which property?
E

F | G

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

26. In the given figure, DEFG is a square and ATDE is an equilateral triangle. ATGD = ATFE by which property?
G F

D E

(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency



27. With the data in the given figure, AEFH = AEGI by which property?

>m

H F G I

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

28. With the data in the given figure, ADGE = ADGF by which property?

>D

E
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(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) RHS Congruency (v) not congruent

29. With the data in the given figure, ACED = ADFC by which property?

-
m
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c D

(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) ASA Congruency

30. With the data in the given figure, AlJM = AIKL by which property?

=
x
Zﬁ

(i) RHS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) not congruent (v) SSS Congruency



31. In the given figure, AGHI is an obtuse angled triangle. AGH) = AIH) by which property?
G

H I

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

32. With the data in the given figure, AFOG = AFOH by which property?
F

G H

(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

33. With the data in the figure, AEHF = AGHF by which property?
E

F G

(i) SAS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency

34. With the data in the figure, AJMK = AJML by which property?
J

(i) ASA Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) not congruent (v) RHS Congruency



35. With the data in the figure, AHKI = AJKI by which property?
K

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

36. With the data in the figure, AKLN = AKMN by which property?
K

L M

(i) RHS Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) not congruent

37. With the data in the figure, ACFD = ADEC by which property?
B

C D

(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) ASA Congruency

38. With the data in the figure, ABEC = ABED by which property?
B

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency



39. With the data in the figure, ADOE = AGOF by which property?
G | F

D E

(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency

40. With the data in the figure, ABCE = ACBD by which property?
E D

B c

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency

41. With the data in the figure, AGI) = AIGH by which property?
] |

G H

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

42. With the data in the figure, AFIG = AFIH by which property?
F

G | H

(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency



43. With the data in the figure, AGJH = AHIG by which property?
J !
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(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

44, With the data in the figure, ABOC = ADOE by which property?
D

¥

m

c

(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) RHS Congruency

45. With the data in the figure, AEOF = AGOH by which property?
G

<]

E F

(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) not congruent (v) RHS Congruency

46. With the data in the figure, AGH] = AHGI by which property?

X}

[#]
=

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) RHS Congruency



47. With the data in the figure, AEFH = AIGH by which property?
E

(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency (v) not congruent

48. With the data in the figure, ABCE = ADCE by which property?
B

C D

(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) ASA Congruency

49. With the data in the figure, AJKN = AKJO by which property?

M L
o N
] K

(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) SSS Congruency

50. With the data in the figure, AGI} = AGIH by which property?
]

H

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency



51. With the data in the figure, ADHG = AEHF by which property?

G
F
H
D E

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

52. With the data in the figure, AMNQ = AMOR by which property?

R
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H Q
|
|
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) RHS Congruency

53. With the data in the given figure, AMNP = AONP by which property?
O

o
[
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M

(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency



54. With the data in the given figure, ALMO = AMLN by which property?
o] N

L M

(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

55. With the data in the given figure, APQS = ARSQ by which property?
R

P Q

(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) not congruent (v) SAS Congruency

56. With the data in the given figure, AOPR = AQPR by which property?
Q

o

o

(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency



57. In the given figure, which pair of triangles are not congruent ?

S

fig 3 fig 4

N
/%

figl fig 2
(i) fig1l (ii) fig4 (iii) fig2 (iv) fig3

58. In the given figure, which pair of triangles are not congruent ?

|
|

fig 3 fig 4

S
X

figl fig 2
(i) fig2 (ii) fig 1 (iii) fig3 (iv) fig4



59. In the given figure, which pair of triangles are not congruent ?

fig 3 fig 4
| | | |
I I | [
figl fig 2

(i) fig4 (i) fig3 (i) fig2 (iv) fig1
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1) (iv) 2) (ii) 3) (i) 4) (i) 5) (iii) 6) (iv)
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